do
qtl [mb/GeV]

10

[EEY

Ratio to ATLAS

0.5

Rivet 3.1.10, = 3.1M events

8000 GeV pp Soft QC
[ O L L Y I L B A N IR B
B |t| (ATLAS) 7]
i m ATLAS |
| —A— Pythia 6.428 370 B
— --£-- Pythia 6.428 391 —
- Pythia 6.428 default —
- 3 Pythia 6.428 pro-q20 B
— . ES—
B |y | [y | | | | | | | | [ | | N T |
| G| T | T T T T | T T T T ‘I ..... Tt I. yaa\ T | T ]
= -~ =

L 1 1 1 1 L | 1 1 1 1 L | L 1 1 1 1 L | L 1 1 1 L 1 L | L 1 L
0 0.1 0.2 0.3 0.4

It| [GeV?]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


